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A. General : 
1. This Question Paper contains 80 questions. Please check 

before starting to attempt. The question paper consists Two 
Sections. Section�A (Conceptual Section) & Section�B 
(Brilliance Section) .  Section-A , 3 Parts: Accounts (1 to 20), 
Economics (21 to 40) , Business Studies (41 to 60) and 
Section-B ,  3 Parts , Accounts  (61 to 65) ,  Economics (66 
to 70) ,  Business Studies (71 to 80) . 

v - lkekU; % 
1- bl iz'u&i=k esa 80 iz'u gSaA Ñi;k ijh{kk 'kq:  d jus l s igys t k¡p ysaA bl 

iz'u&i=k esa nks [k.M gSA [k.M&v ¼oSpkfjd  [k.M½ rFkk [k.M&c ¼izfrHkk 
[k.M½A [k.M&v esa] rhu Hkkx bl izd kj gSa & ys[kkk'kkL=k (1 ls 20)  , 
vFkZ'kkL=k (21 ls 40) , O;kol kf;d  v/;;u (41 l s 60) rFkk [k.M&c esa rhu 
Hkkx bl  izdkj gSa & ys[kkk'kkL=k (61 ls 65)  , v FkZ'kkL=k (66 ls 70) , 
O;kolkf;d  v /;;u (71 ls 80) 

2. Space is  provided within question paper for rough work 
hence no additional sheets will be provided. 

2- jQ  d k;Z d jus d s fy , iz'u&i=k esa gh LFkku fn;k x;k gS vr% 
v frfjDr : i l s d ksbZ 'khV ;k isij ugha fn;k t k,xkA 

3. Blank paper, clipboard, log tables, calculators, cellular 
phones and electronic gadgets in any form are not allowed 
inside the examination hall. 

3- [kkyh d kxt ] r[rh] y ?kqx.kd  lkj.kh] d sYd qy sVj] l sy  Q ksu ,oa 

fd l h Hkh izd kj d s by sDVªkWfud  xSt sV ijh{kk gkWy esa y kuk oft Zr gSA 

4. The answer sheet,  a machine-gradable Objective 
Response Sheet (ORS), is provided separately. 

4- mÙkj iqfLrd k] v kWCt sfDVo jsLikWUl  'khV ¼vks-v kj-,l-½ t ks fd  e'khu 

}kjk t k¡ph t k,xh] v y x l s iznku d h xbZ gSA 
5. Do not Tamper / mut ilate the ORS or this booklet . 5- vks-vkj-,l - ;k iz'u&i=k d ks fd l h Hkh izd kj l s d kaVs&NkaVs ;k eksM+s ughaA 
6. Do not break the seals of the question-paper booklet  before 

instructed to do so by the invigilators. 
6- iz'u&i=k d h l hy  rc rd  ugha [kksy sa t c rd  fd  fujh{kd  }kjk 

funsZ'k ugha fn, t k,saA 
7. SUBMIT the ORS to the invigilator after completing the test 

& take away the test paper with you. 
7- ijh{kk l ekIr gksus d s ckn vks-v kj-,l - 'khV fujh{kd  d ks lkSais rFkk 

iz'u&i=k v ius l kFk y s t k,saA 
8. Any student found/reported using unfair means to improve his/her 

performance in the test, shall be disqualified from STaRT-2018. 
8- ;fn dksbZ fo|kFkhZ ijh{kk esa vad c<+kus ds fy, vuqfpr lk/kuksa d k iz;ksx djrk 

ik;k x;k ;k ,slk lwfpr fd;k x;k rks og STaRT-2018 d s fy, v;ksX; gksxkA 
B.   How to fil l Objective Response Sheet (ORS) for fi lling 

details marking answers: 
9. Use only  HB Pencil for filling the ORS. Do not use Gel/Ink/Felt 

pen as it might smudge the ORS. 

c- v kWCt sfDVo jsLikWUl  'khV ¼vks-v kj-,l -½ esa fMVsYl  rFkk m Ùkj v afd r 

d jus d s fy , fuEu izd kj Hkjsa % 
9- vks-v kj-,l - Hkjus d s fy , d soy HB isafl y  d k gh iz;ksx d jsaA 

t sy @L;kgh@Q sYV isu iz;ksx ugha d jsaA 
10. Write your STaRT-2018 Student Registrat ion No. in the 

boxes given at the top left corner of your ORS with 
blue/black ball point pen. Also, darken the corresponding 
bubbles with HB Pencil only. 

10- v iuk  STaRT-2018 fo|kFkhZ jft LVªs'ku Ø ekad  vks-vkj-,l- 'khV ds ck;sa 
d ksus esa fn, x, LFkku esa uhys ;k dkys ckWy  isu l s HkjsaA lkFk gh Ø ekad  ds 

vuqlkj uhps fn, x;s xksyksa dks Hkh HB isafly  ls xgjk djsaA 

11. If  any student does not fill his/her STaRT-2018 Student 
Registration No. correctly and properly , then his/her ORS 
will not  be checked/evaluated. 

11- ;fn d ksbZ fo| kFkhZ viuk STaRT-2018 fo|kFkhZ jft LVªs'ku Ø ekad  
l gh ,oa Bhd  <ax ls ugha Hkjrk gS rks m ld h v ks-v kj-,l - d ks 
p Sd @ewY;kafd r ugha fd ;k t k,xkA 

12. Since it is  not possible to erase and correct pen filled bubble, 
you are advised to be extremely careful while darken the 
bubble corresponding to your answer. 

12- v ks-v kj-,l - esa fn, x, xksy ksa d ks ;fn ,d  ckj ckWy  isu ls xgjk 
fd ;k t krk gS rks m ls feVkuk laHko ugha] bl fy , fo|kFkhZ iwjh 
l rd Zrk ls gh xksy ksa d ks xgjk d jsaA 

13. Neither try to erase / rub / scratch the option nor make the 
Cross (X) mark on the opt ion once filled. Do not scribble, 
smudge, cut,  tear,  or wrinkle the ORS. Do not put any stray 
marks or whitener anywhere on the ORS. 

13- ,d  ckj fd lh fod Yi d s xksy s d ks xgjk d jus d s ckn feVkus ;k   
[kqjp us d k iz;Ru ugha d jsaA v ks-v kj-,l - 'khV ij fd l h izd kj d s 
/kCcs] xUnxh ;k fl y oV u y xus nsa v kSj u gh bl s eksM+sa ;k d kVsaA 

14. If there is any discrepancy between the written data and the 
bubbled data in your ORS, the bubbled data will be taken as final. 

14- ;fn fd l h l anHkZ esa fy f[kr ,oa xksy ksa esa vafd r t kud kjh esa v arj 
ik;k x;k rks xksy ksa esa vafd r t kud kjh d ks gh izekf.kd  ekuk t k,xkA 

C. Question paper format and Marking scheme : 
15. SECTION-A: For each right answer you will be awarded 3 marks 

if you darken the bubble corresponding to the correct answer and 
zero marks if no bubble is darkened. In case of bubbling of 
incorrect answer, minus one (�1) mark will be awarded. 

l- iz'u&i=k izk: i ,oa v ad iznku fu;e %  

15- [k.M&v % izR;sd  mÙkj d s fy, 3 vad  fn, tk,xsa ;fn lgh xksys d ks xgjk fd ;k 
x;kA ;fn xyr xksys d ks xgjk fd ;k x;k rks ¼�1½ vad d kVk tk,xkA ;fn 
fd lh xksys d ks Hkh xgjk ugha fd;k x;k rks 'kwU; vad  fn;k t k,xkA 

16. SECTION-B: For each right answer you will be awarded 6 marks 
if you darken the bubble corresponding to the correct answer and 
zero marks if no bubble is darkened. In case of bubbling of 
incorrect answer, minus two (�2) mark will be awarded 

16- [k.M&c% izR;sd mÙkj ds fy, 6 vad  fn, tk,xsa ;fn lgh xksys d ks xgjk fd ;k 
x;kA ;fn xy r xksys d ks xgjk fd ;k x;k rks ¼�2½ vad  d kVk tk,xkA ;fn 

fd lh xksys d ks Hkh xgjk ugha fd;k x;k rks 'kwU; vad  fn;k t k,xkA 
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SECTION-A (CONCEPTUAL SECTION) Hkkx-v  ¼oSpkfjd  Hkkx½
PART-I (ACCOUNTS)  Hkkx- I ¼ys[kk'kkL=k½

Straight Objective Type
This section contains (1-20) multiple choice questions. Each question has choices (A), (B),
(C) and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izd kj
bl [k.M esa (1 � 20) cgq&fod Yih iz'u gSaA izR;sd  iz'u d s 4 fod Yi (A), (B), (C) rFkk (D) gSa] ft uesa ls flQ Z
,d  lgh gSA

1. Change in Accounting estimate means :
(A) Difference arising between certain parameters estimated earlier and re-estimated during the

current period.
(B) Difference arising between certain parameters estimated earlier and actual results achieved

during current period.
(C) Difference arising between certain parameters during the current period and actual results

achieved during the previous period.
(D) Both (A) and (B).

ys[kkad u vuqeku esa cnyko d k vFkZ gS %
(A) pkyw vof/k d s iSekuksa vkSj iwoZ esa vuqekfur iSekuksa esa vUrj mRiUu gksuk
(B) pkyw vof/k esa izkIr okLrfod  ifj.kke vkSj iwoZ esa vuqekfur iSekuksa esa vUrj mRiUu gksuk
(C) pkyw vof/k d s d qN iSekuksa vkSj iwoZ vof/k esa izkIr okLrfod  ifj.kkeksa esa vUrj gksuk
(D) (A) vkSj (B) nksuksa

2. At the time of retirement of a partner, firm gets ________ from the insurance company against the joint
life policy taken jointly for all the partners :
(A) Policy value for the retiring partner and surrender value for the rest
(B) Surrender value (C) Policy amount (D) None of these

lk>snkj d h fuof̀Ùk d s le;] Q eZ d ks izkIr gksrk gS  ________ chek d Eiuh ls] lHkh lk>snkjksa }kjk la;qDr : i
ls yh xbZ la;qDr t hou chek ikWfylh d s fo: )  %
(A) vod k'k xzg.k d jus okys lk>snkj d h ikWfylh d h jkf'k vkSj 'ks"k d k leiZ.k ewY;
(B) leiZ.k ewY; (C) ikWfylh d h jkf'k (D) buesa ls d ksbZ ugha

3. The balance of joint life policy account shown in the balance sheet represents :
(A) Surrender value of a policy (B) Annual premium of JLP
(C) Total premium paid by the firm (D) Amount receivable on the maturity of the policy

fpës esa fn[kk;k x;k la;qDr t hou chek ikWfylh [kkrs d k 'ks"k iznf'kZr d jrk gS :

(A) ,d  ikWfylh d k leiZ.k ewY; (B) t hou chek ikWfylh d k okf"kZd  izhfe;e
(C) Q eZ }kjk fn;k x;k d qy izhfe;e (D) ikWfylh d h ifjiDork frfFk ij izkI; jkf'k

4. Suresh purchased a computer having MRP of ` 60,000 for ` 45,000 and was offered a cash discount
of ` 9,000.At what percentage he got trade discount on MRP before getting cash discount ?

lqjs'k us ,d  d EI;wVj ̀  45,000 esa [kjhnk ft ld k vafd r ewY; ̀  60,000 Fkk rFkk ml ij ̀  9,000 d h ud n NwV
nh x;hA ud n cêk izkIr d jus ls iwoZ mls vafd r ewY; ij fd ruk izfr'kr O;kikfjd  cêk izkIr gqvk %
(A) 15 % (B) 10 % (C) 7.5 % (D) 25 %
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5. A, B and C are partners sharing profits in the ratio of 2 : 2 : 1. On retirement of B, goodwill was valued
as ` 30,000. Find the contribution of A and C to compensate B :
(A) ` 20,000 and ` 10,000 (B) ` 8,000 and ` 4,000
(C) No contribution (D) ` 15,000 and ` 15,000

A, B vkSj C 2 : 2 : 1 d s vuqikr esa ykHk ck¡Vrs gq, lk>snkj gSA B d s fuoÙ̀k gksus ij] [;kfr d k ewY; ̀  30,000

gSA B d h {kfriwfrZ gsrq A rFkk C d s va'knku d h x.kuk d jks :

(A) ` 20,000 vkSj ` 10,000 (B) ` 8,000 vkSj ` 4,000

(C) d ksbZ va'knku ugha (D) ` 15,000 vkSj ` 15,000

6. Sales = ` 11,000 & G.P. = 1/10th on cost. Closing stock before this Adjustment ` 1,00,000.Closing
stock after adjustment of sales will be :
(A)  ` 1,10,000 (B) ` 90,000 (C) ̀  89,000 (D) None

foØ ; ̀  11,000 rFkk ld y ykHk 1/10 ykxr ijA bl lek;kst u ls iwoZ vfUre jgfr;k ̀  1,00,000A foØ ; d k
lek;kst u d jus i'pkr~ vfUre jgfr;k gksxk %
(A)  ` 1,10,000 (B) ` 90,000 (C) ̀  89,000 (D) d ksbZ ugha

7. What are the consequences of undervaluation of closing stock ?
(A) Under recording of profit (B) Creation of hidden reserves
(C) Reduction of tax liability (D) All of these

vfUre LVkWd  d k voewY;u d jus d s D;k ifj.kke gS \
(A) ykHk d ks d e vfHkysf[kr d juk (B) xqIr lap;ksa d ks cukuk
(C) d j nkf;Ro d ks ?kVkuk (D) mijksDr lHkh

8. Fixed assets and Current assets are categorized as per concept of :
(A)  Separate entity (B) Going concern (C) Consistency (D) Time period

LFkk;h ,oa pkyw lEifÙk;ksa d s fd l vo/kkj.kk esa xqzickbZ gS
(A) iF̀kd  vfLrRo (B) lqnh?kZ laLFkku (C) lrrrk (D) vof/k

9. Which concepts work together for income measurement and recognition of assets and liabilities?
(A) Cost, going Concern and Realization (B) Cost, Accrual and Matching
(C) Accrual, Matching and Periodicity (D) Going Concern, Periodicity and Realization

d kSu–lh vo/kkj.kk vk; ekiu vkSj lEifÙk o nkf;Ro d h igpku d s lkFk d ke d jrh gS \
(A) ykxr] lrr~ O;olk; vkSj olwyh (B) ykxr] mikt Zu vkSj feyku
(C) mikt Zu] feyku vkSj vof/kxr (D) lrr~ O;olk;] vof/kxr vkSj olwyh

10. Consider the following statements and identify the wrong statement :
(A) All personal and real account ultimately show balance.
(B) The balances of nominal accounts are transferred to Profit and Loss Account.
(C) Separate account is opened in ledger book for each account.
(D) Rent is a personal account but outstanding rent is a nominal account.

fuEu d Fkuksa d s vk/kkj ij xyr d Fku d ks igpkus %
(A) lHkh O;fDrxr rFkk okLrfod  [kkrs vUrr% 'ks"k n'kkZrs gS
(B) ukeek=k [kkrks d s 'ks"k ykHk rFkk gkfu [kkrs esa LFkkukUrfjr fd ;s t krs gS
(C) [kkrk cgh esa izR;sd  [kkrs d s fy;s vyx ls [kkrk cuk;k t krk gS
(D) fd jk;k [kkrk O;fDrxr [kkrk gksrk gS ysfd u cd k;k fd jk;k ukeek=k [kkrk gksrk gS
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11. The balance of memorandum revaluation account (second part) is transferred to the capital accounts
of the partners in ________ .
(A) Capital Ratio (B) Old profit sharing Ratio
(C) New profit sharing Ratio (D) Sacrificing Ratio

Lej.kkFkZ iquewZY;kad u [kkrs ¼f}rh; Hkkx½ d k 'ks"k ______ esa lk>snkjksa d s iw¡t h [kkrksa esa vUrfjr fd ;k t krk gS
(A) iw¡t h vuqikr (B) iqjkus ykHk foHkkt u vuqikr
(C) u;s ykHk foHkkt u vuqikr (D) R;kx vuqikr

12. What is not the source of finance of a company :
(A) Equity Share Capital (B) Preference Share Capital
(C) Fixed Assets (D) Debenture Capital

,d  d Eiuh d k foÙk d k L=kksr D;k ugha gksrk gS :
(A) lerk va'k iw¡t h (B) vf/keku va'k i¡wt h
(C) LFkkbZ lEifÙk;k¡ (D) _ .k&i=k i¡wt h

13. The purpose of Accounting Standards is to :
(A) Harmonies accounting policies
(B) Eliminate the non comparability of financial statements
(C) Improve reliability of financial statements
(D) All of the above

ys[kkad u ekun.M d s mís'; gS
(A) ys[kkad u uhfr;ksa d h ,d : irk (B) foÙkh; fooj.kksa d h xSjrqyukRed  d ks [kRe d juk
(C) foÙkh; fooj.kksa d h fo'ouh;rk d ks c<+kok (D) mi;qZDr lHkh

14. The next step after preparation of ledger is the preparation of ________
(A) Trial Balance (B) Final  Account
(C) Cash Flow Statement (D) Balance Sheet
[kkrk cgh d h jpuk d s ckn vxyk d k;Z gksrk gS %
(A) ryiV (B) vfUre [kkrs (C) jksd M+ izokg fooj.k (D) vkfFkZd  fpêk

15. Capital of business is  ` 75,000 and liability is  ` 25,000 . Then assets of business would be :

O;olk; d h iwat h ̀  75,000  vkSj nkf;Ro ̀  25,000  gS] rks O;olk; d h d qy lEifÙk gksxh %
(A)  ` 1,00,000 (B)  ` 15,000 (C) ̀  75,000 (D)  ` 50,000

16. The problems related to price-rise are handled under :
(A) Management Accounting (B) Cost Accounting
(C) Financial Accounting (D) Inflation Accounting

ewY;&of̀)  ls lEcfU/kr leL;kvksa d k fuokj.k d kSu d jrk gS %
(A) izcU/k ys[kkad u (B) ykxr ys[kkad u (C) foÙkh; ys[kkad u (D) eqnzkLQ hfr ys[kkad u

17. Renewal fee for patent is a :
(A) Capital expenditure (B) Revenue expenditure
(C) Deferred revenue expenditure (D) Development expenditure

isVs.V d k uohuhd j.k 'kqYd  gS %
(A) iw¡t hxr O;; (B) vk;xr O;;
(C) vkLFkfxr vk;xr O;; (D) fod kl O;;
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18. When overdraft as per cash book is the starting point, a cheque of ` 5,500 was deposited in bank and
duly credited by bank, but not recorded in cash book, ______ in bank reconciliation statement :
(A) ` 5,500 will be added (B) ` 5,500 will be deducted
(C) ` 11,000 will be added (D) ` 11,000 will be deducted

t c jksd M+ cgh d s vuqlkj vf/kfod "kZ izkjfEHkd  fcUnq gS] ,d  pSd  ̀  5,500 d k t ek fd ;k Fkk rFkk cSad  us nks ckj
t ek fd ;k] fd Urq jksd M+ cgh esa vfHkysf[kr ugha gqvk] rks cSad  lek/kku fooj.k esa _______ :

(A) ` 5,500 t ksMs+ t k;sxsa (B) ` 5,500 ?kVk;s t k;sxas
(C) ` 11,000 t ksMs+ t k;sxas (D) ` 11,000 ?kVk;s t k;sxsa

19. What are the consequences of undervaluation of closing stock ?
(A) Under recording of profit (B) Creation of hidden reserves
(C) Reduction of tax liability (D) All of these

vfUre LVkWd  d k voewY;u d jus d s D;k ifj.kke gS \
(A) ykHk d ks d e vfHkysf[kr d juk (B) xqIr lap;ksa d ks cukuk
(C) d j nkf;Ro d ks ?kVkuk (D) mijksDr lHkh

20. Registered companies are formed under :
(A)  The Companies Act (B)  An Act passed by the Parliament
(C)  The Partnership Act (D)  The Society Registration Act

iat hd r̀ d Eifu;k¡ os d Eifu;k¡ gS ft ud k fuekZ.k :
(A)  d Eiuh vf/kfu;e d s vUrxZr gksrk gSA (B)  laln }kjk ikfjr ,d  vf/kfu;e d s varxZr gksrk gSA
(C)  lk>snkjh vf/kfu;e d s vUrxZr gksrk gSA (D) lkekft d  iat h;u vf/kfu;e d s vUrxZr gksrk gSA

PART - II (ECONOMICS)   Hkkx- II ¼vFkZ'kkL=k½
Straight Objective Type

This section contains (21-40) multiple choice questions. Each question has choices (A),
(B), (C) and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izd kj
bl [k.M esa (21 � 40) cgq&fod Yih iz'u gSaA izR;sd  iz'u d s 4 fod Yi (A), (B), (C) rFkk (D) gSa] ft uesa ls flQ Z
,d  lgh gSA

21. In terms of lending, priority sector constitute about ________ of total bank lending ?

_ .k d s {ks=k esa izkFkfed  {ks=k d k d qy cSafd x _ .kksa esa fd ruk Hkkx gS
(A) 60 (B) 80 (C) 30 (D) 35

22. At higher prices people demand more of certain goods not for their worth but for their prestige value.
This is called:
(A) Veblan effect (B) Giffen paradox
(C) Speculative effect (D) Consumer surplus

Å ¡ph d herksa ij O;fDr d qN oLrqvksa d h ekax izfr"BkRed  ewY;ksa d s fy;s d jrs gS ;g d gykrk gSA
(A) osCysu ¼fn[kkoVh½ izHkko (B) fxfQ u d k fojks/kkekl
(C) lVV~k izHkko (D) miHkksDrk d h cpr
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23. Which of the following goods is likely to have perfectly inelastic demand?
(A) Car (B) Salt (C) Cabbage (D) Sugar

fuEu esa ls d kSulh oLrq d h ekax iw.kZr;k csykspnkj t Slh gSA
(A) d kj (B) ued (C) xksHkh (D) 'kDd j

24. Who is known as the �Father of Economics�?
(A) Alfred Marshall (B) Adam Smith
(C) Paul Samuelson (D) Henry Smith

fd ls �vFkZ'kkL=k d k t ud � d gk t krk gS&
(A) vYÝ sM ek'kZy (B) ,Me fLeFk
(C) iWky lSEeqylu (D) gsujh fLeFk

25. The major difference between a short-run and long-run production analysis lies in the number of
(A) Variable inputs (B) Products
(C) Consumers (D) Markets

vYid kyhu o nh?kZd kyhu mRiknu fo'ys"k.k esa eq[; vUrj gksrk gSA
(A) ifjorZu'khy lk/ku (B) mRiknu
(C) miHkksDrk (D) ckt kj

26. The logic in deductive method proceeds from�
(A) general to particular (B) particular to general
(C) negative to positive (D) positive to negative

fuxeu fof/k fØ ;k d jrh gSA
(A) lkekU; ls fof'k"V (B) fof'k"V ls lkekU;
(C) _ .kkRed  ls /kukRed (D) /kukRed  ls _ .kkRed

27. A Giffen good is one whose demand increases, other things remaining same when_______
(A) its price increases (B) price of its superior substitute decreases
(C) consumer�s income increases (D) its price decreases

vU; ckrsa leku jgus ij ,d  fxfQ u oLrq ft ld h ekax esa of̀)  gksrh gS t c------------------
(A) mld h d her esa of̀)  gks (B) mld s LFkkukiu d her d s d eh gks
(C) miHkksDrk d h vk; esa of̀)  gks (D) mld h d her esa d eh gks

28. An upward shift in the demand curve for a product is caused by which of the following?
(A) Decrease in the price of the product (B) Increase in consumer�s income
(C) Fall in the price of substitutes (D) None of the above

fuEu esa ls fd lh mRikn d s ekax oØ  d k Å ij d h vksj f'k¶V gksus d k d kj.k gS&
(A) mRikn d h d her esa d eh (B) miHkksDrk d h vk; esa of̀)
(C) LFkkukiu d h d herksa esa d eh (D) mijksDr esa ls d ksbZ ugha

29. Assume  that  when  price  is ` 20 , the  quantity demanded is 9 units, and when price is ` 19, the
quantity demanded is 10 units . What  is  the marginal revenue resulting from an increase in output
from 9 units to 10 units :

ekuk fd  d her ̀  20 gksus ij ekax ek=kk 9 bd kb;ka gS rFkk d her ̀  19 gksus ij ekax ek=kk 10 bd kb;ka gks t krh
gSA 9 ls 10 bd kb;ksa d h of̀)  gksus ij lhekUr vkxe gksxhA
(A)  ` 20 (B) ` 19 (C) ` 10 (D) ̀  1
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30. Direct costs are :
(A) Implicit costs (B) Indirect costs (C) Explicit costs (DTraceable costs

izR;{k ykxrs gS &
(A) vLi"V ykxrsa (B) vizR;{k ykxrs (C) Li"V ykxrsa (D) igpku ;ksX; ykxr

31. Narrow money excludes ______ of the public with the banks while broad money includes it.
(A) Demand deposits (B) Time deposits
(C) Post office saving deposits (D) Currency in circulation

lad h.kZ eqnzk t urk d h cSad ks d s lkFk____________d ks vyx rFkk O;kid  eqnzk 'kkfey d jrh gS %
(A) ekax t ek,sa (B) le; t ek,sa

(C) Mkd ?kj t ek,sa (D) d jsUlh t ks pyu esa gS

32. Which of the following item will not be included in balance of current account?
(A) Balance of unilateral transfers (B) Balance of invisible items
(C) Balance of trade (D) External commercial borrowings

pkyw [kkrk larqyu fd l en d ks 'kkfey ugh d jrk gS %
(A) ,d i{kh; varj.kksa d k 'ks"k (B) vn'̀; enksa d k 'ks"k

(C) O;kikj 'ks"k (D) ckg~; okf.kfT;d  _ .k

33. The RBI classifies currency with public + Demand deposit with the public.

RBI us t urk d s ikl d jaslh $ ek¡x t ekvksa d ks oxhZd r̀ fd ;k gSA
(A) M

1
(B) M

2
(C)M

3  
(D) M

4

34. Monetary policy in India is formulated by :
(A) FICCI (B) Planning commission
(C) RBI (D) Govt. of India

ekSfnzd  uhfr fd ld s }kjk cukbZ t krh gS &
(A) FICCI (B) fu;kst u vk;ksx (C) RBI (D) Hkkjr ljd kj

35. GDP at market prices = ________
(A) GNP at MP � Depreciation (B) GNP at MP � NFIA
(C) GNP at FC � Depreciation (D) GNP at FC � NFIA

ckt kj ewY;ksa ij GDP gS%
(A) GNP

MP
 � àkl (B) GNP

MP
 � NFIA (C) GNP

FC
 � àkl (D) GNP

FC
 � NFIA

36. Functions of money doesn't include :
(A) Medium of exchnage (B) Sotre of value
(C) Measure of value (D) Employment generation

eqæk d s d k;Z esa 'kkfey ugh gS%
(A) fofue; d k ek/;e (B) lap; d k vk/kkj
(C) ewY; d k ekid (D) jkst xkj l t̀ u

37. Lowering of margin requirements by a Central bank______borrowings.
(A) Encourages (B) Discourages
(C) No impact (D) None of these

ekft Zu vko';d rkvksa d ks d e d juk d sUæh; cSd ksa d s }kjk m/kkjh d ks __________ %
(A) c<kok nsrh gS (B) ?kVkrh gS
(C) d ksbZ çHkkfor ugh d jrh gS (D) mijksDr esa ls d ksbZ Hkh
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38. What is not comes under micro economics-
(A) Product pricing (B) Factor pricing
(C) General Price level (D) Study of firms

fuEu esa ls D;k lw{e vFkZ'kkL=k esa ugh vkrk \
(A) mRikn d h d heras (B) lk/ku d h d heras
(C) lkekU; d her Lrj (D) Q eksZ d h v/;;u

39. Which of the following steps relates only to deductive method in Economics?
(A) Testing of Hypothesis (B) Collection of data
(C) Classification of data (D) Perception of the problem

fuEu esa ls d kSulk pj.k vFkZ'kkL=k d h d soy fuxeu fof/k ls lEcfU/kr gSA
(A) ifjd Yiuk d h t k¡p (B) vkad M+ksa d k laxzg
(C) vkad M+kas d k oxhZd j.k (D) leL;k d h vuqHkwfr

40. Kinked DD curve under oligopoly show______
(A) Price & output (B) Price rigidity
(C) Price leadership (D) Collusion among rivals

vYikf/kd kj d s eksM+nkj ekax od Z n'kkZrk gS __________

(A) ewY; rFkk mRikn (B) ewY; gfBrk
(C) ewY; usrR̀o (D) izfrLif/kZ;ksa d h fefyHkxr

PART - III (BUSINESS STUDIES)  Hkkx- III ¼O;kolkf;d  v/;;u½
Straight Objective Type

This section contains (41 � 60) multiple choice questions. Each question has choices (A),
(B), (C) and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izd kj
bl [k.M esa (41 � 60) cgq&fod Yih iz'u gSaA izR;sd  iz'u d s 4 fod Yi (A), (B), (C) rFkk (D) gSa] ft uesa ls flQ Z
,d  lgh gSA

41. The maturity period of a commercial paper.
(A)  20 to 40 days (B)  60 to 90 days
(C)  120 to 365 days (D)  90 to 365 days

,d  okf.kfT;d  izi=k d k ifjiDork d ky gksrk gS ?
(A)  20  ls  40  fnu (B)  60  ls  90  fnu
(C)  120  ls  365  fnu (D)  90  ls  365  fnu

42. Preliminary contracts are :
(A) Binding on the company
(B) Binding on the company, if ratified after incorporation
(C) Binding on the company, after incorporation
(D) Not binding on the company.

izkjfEHkd  vuqca/k %
(A) d Eiuh d ks ck/; d jrs gS
(B) d Eiuh d ks ck/; d jrs gS] ;fn lekesyu d s i'pkr~ vuqlefFkZr fd ;s t krs gS
(C) d Eiuh d ks ck/; d jrs gS] lekesyu d s i'pkr~
(D) d Eiuh d ks ck/; ugha d jrs gSaA
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43. Mr. Manoj, working as Manager(Human Resource Department) in JMD Ltd, promoted Ms. Sheela as
Supervisor from Typist. She effectively manages work assignments and supervises the staff. She
regularly checks the work of staff in compliance with quality standards to ensure completion of work in
time.Which element of directing is Ms Sheela following ?
(A)  Supervision (B)  Controlling (C)  Analyzing (D)  None of these

Jh eukst  ,d  izca/kd  ¼ekuo lalk/ku foHkkx½ d h rjg JMD Ltd. esa d k;Z d jrs gS] Jherh 'khyk d ks VkbfiLV ls
lqijokbt j ij inksUur d jrs gSA og izHkkoh : i ls mls fn;s x, d k;Z izcaf/kr d jrh gS rFkk LVkQ  d k i;Zos{k.k
d jrh gSA og fu;fer : i ls LVkQ  d s d k;Z d ks xq.koÙkk ekud ks d s vuqikyuk d s vuqlkj t k¡prh gS] rFkk d k;Z
d s le; ij fu"iknu d ks vk'okflr d jrh gSA Jherh 'khyk fd l rRo d k vuqikyu d j jgh gS \
(A)  i;Zos{k.k  (B)  fu;a=k.k (C)  fo'ys"k.k  (D)  buesa ls d ksbZ ugha

44. It is an instrument issued by Reserve Bank of India on behalf of the Central government to meet its
short term requirements of funds. It is highly liquid, and negligible risk of default.
(A) Treasury bill (B) Commercial Paper
(C) Global Depositary receipt (D) None of these

Hkkjrh; fjt oZ cSad  d s }kjk d sfUnz; ljd kj d s i{k esa t kjh fd ;k x;k ,d  foys[k t ks y?kqd kyhu d ks"k d h
vko';d rkvksa d ks iwjk d jrk gSA t ks vR;ar rjy gksrk gS o ft lesa uke ek=k d k t ksf[ke gksrk gS d gykrk gS %
(A)  Vªst +jh fcy (B)  okf.kfT;d  i=k
(C)  oSf'od  t ek jlhn (D)  buesa ls d ksbZ ugha

45. Who is the current chief executive officer (CEO) of Apple ?
(A)  Jeff Williams (B)  Tim Cook (C)  Luca Maestri (D)  Steve Jobs

,Iiy d k orZeku eq[; d k;Zd kjh vf/kd kjh d kSu gS ?
(A)  t sQ  fofy;el (B)  fVe d qd (C)  Y;wd k eSL=kh (D)  LVho t kWCl

46. �Arm�s-length transaction is a basis of determining fair market value (FMV), it is a dealing between
independent, unrelated, and  well  informed  parties looking out for their individual interests.� This
statement is :
(A)  Correct (B)  Incorrect (C)  Partly correct (D)  None of these

�Arm�s yackbZ ysunsu mfpr ckt kj ewY; (FMV) d k fu/kkZj.k d jus d k ,d  vk/kkj gS, ;g Lora=k] vlacaf/kr]
vkSj vPNh rjg ls lwfpr nyksa d ks vius O;fDrxr fgrksa d s fy, ckgj ns[k jgs gSa d s chp ,d  d ke d j jgk
gS" ;g d Fku gS :
(A)  lgh (B)  xyr (C)  vkaf'kd  lgh (D) buesa ls d ksbZ ugha

47. ___________ is a process where the price is discovered through the process of competitive and
open bidding.
(A)  Auction (B)  Action (C)  Sale (D)  Competition

___________ ,d  izfØ ;k gS t gk¡ fd er] izfrLi/khZ vkSj [kqyh cksyh d h izfØ ;k d s ek/;e ls t kuh t krh gSA
(A)  uhykeh (B)  d k;Zokgh (C)  fcØ h (D)  izfr;ksfxrk

48. Systematic examination and verification of a firm�s books of account, transaction records, other
relevant documents by qualified accountants is known as :
(A)  Examination (B)  Investigation (C)  Audit (D)  Accounting

,d  ;ksX; ,d kmaVsaV }kjk ,d  Q eZ d s [kkrksa d h fd rkcsa] ysunsu fjd kWMZ] vU; lacaf/kr nLrkost ksa d h O;ofLFkr
t kap vkSj lR;kiu d juk d gykrk gSA
(A)  ijh{kk (B)  t kap (C)  vd sa{k.k (D)  ys[kkad u
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49. Cash deposit or placing of owned property by a debtor to a creditor as a security for a loan or
obligation is called :
(A)  Guarantee (B)  Insurance (C)  Deposit (D)  Pledge

,d  _ .k ;k nkf;Ro d s fy,] ,d  nsunkj }kjk ,d  ysunkj d ks ud n t ek ;k LokfeRo lEifÙk izfrHkwfr d s : i
esa j[kuk] d gykrk gSA
(A)  xkjaVh (B)  chek (C)  t ek (D)  fxjoh

50. Directory of businesses classified by types of business and arranged alphabetically within each
classification.
(A)  Yellow pages (B)  Blue pages (C)  Pink pages (D)  White Pages

O;olk;ksa d s oxhZd j.k ,oa izR;sd  oxhZd j.k esa O;fLFkr o.kkZuqØ e vuqlkj O;olk;ksa d h oxhZd r̀ funsZf'kd k
(A)  Yellow pages (B)  Blue pages (C)  Pink pages (D)  White Pages

51. Financial management comprises of :
(A)  Financial decision (B)  Investment decision
(C)  dividend decision (D)  All of these

foÙkh; izcU/k ysrk gS :
(A)  foÙkh; fu.kZ; (B)  fuos'k fu.kZ; (C)  ykHkka'k fu.kZ; (D)  mijksDr lHkh

52. The following factors are key driver of globalization :
(A) Government action, exchange rate , competition and socio demographic factors
(B) Market convergence, competition, exchange rates and cost advantages
(C) Cost advantages government action economic cycles and competition
(D) Smart cost competition and government policies.

fuEu esa ls d kSuls ?kVd  oS'ohd j.k d k lapkyu d jrs gS :
(A) ljd kjh fØ ;k,a, fofue; nj, izfr;ksfxrk ,oa lkekft d  t ukafd d h; rRo
(B) ckt kj, izfr;ksfxrk, fofue; nj rFkk ykxr ykHk
(C) ykxr ykHk] ljd kjh fØ ;k,a vkfFkZd  pØ ] rFkk izfr;ksfxrk
(D) ykxr izfr;ksfxrk vkSj ljd kjh uhfr;ka

53. In which of the following, the ownership of venture is reflected by ownership of shares of stock ?
(A)  Partnership (B)  Trusts (C)  Corporations (D)  HUF
buesa ls fd lesa lkglh d k LokfeRo Ld U/k LokfeRo ls fn[kkbZ nsrk gS ?
(A)  lk>snkjh (B)  VªLV (C)  fuxe (D)  fgUnw vfoHkkft r ifjokj

54. Statutory body is a body that is created under an Act, enacted by :
(A) Association of people (B) Association of ministers
(C) Both A and B (D) Judiciary

oS/kkfud  Lo: i og gksrk gS t ks fd lh vf/kfu;e d s v/khu cukbZ t krh gS - ;g fuekZ.k gksrk gS
(A) yksxksa d h lfefr ls (B) eaf=k;ksa d h lfefr ls
(C) (A) rFkk (B) nksuksa (D) U;kf;d  lfefr

55. Which of the following is not the Social Responsibility of Business towards the Investor ?
(A)  To ensure Safety of Capital (B)  To ensure Proper Utilization of Capital
(C)  To ensure Proper Dividend (D)  To give Appropriate Salary
fuEu esa ls d kSu ls O;olk; d k fuos'kd ksa d s izfr lkekft d  mÙkjnkf;Ro ugha gS \
(A)  iw¡t h d h lqj{kk iznku d juk (B)  mfpr ykHkka'k lqfuf'pr d juk
(C)  iw¡t h d k lnqi;ksx lqfuf'pr d juk (D)  mfpr ikfjJfed  nsuk
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56. In July 1997, which of the following has not been identified as a 'navratra' public sector enterprise :
t qykbZ 1997 esa lkoZt fud  {ks=k d s m|ksxksa esa uojRuksa esa fuEu esa ls d kSu lfEefyr t qMs gS ugh Fkk :
(A) SAIL (B) ONGC (C) BHEL (D)  UTI

57. Ethics are related to :  uhfr'kkL=k d k lEcU/k ________ ls gSA
(A)  Medical  (esfMd y ) (B)  Law  (d kuwu)

(C)  Business  (O;kikj) (D)  All of these  (mijksDr lHkh)

58. Trade Credit is the example of :
(A)  Long Term Finance (B)  Medium Term Finance
(C)  Short Term Finance (D)  All of these
O;kikj lk[k ________ d k mnkgj.k gSA
(A)  nh?kZd kyhu foÙk (B)  e/;d kyhu foÙk
(C)  vYid kyhu foÙk (D)  mijksDr lHkh

59. The investment limit of Small Scale Industries (SSI) does not exceed :
(A)  ` 1 Crore (B)  ` 2 Crores (C)  ` 3 Crores (D)  ` 10 Crores
y?kq Lrjh; m|ksxksa (SSI)  esa fofu;ksx lhek ________ rd  gSA
(A)  ` 1 d jksM (B)  ` 2 d jksM (C)  ` 3 d jksM (D)  ` 10 d jksM

60. Small Businesses are helpful to generate :
(A)  More Employment (B)  Economic Strength
(C)  Both (A) and (B) (D)  Corruption
NksVs O;olk; ________ iSnk d jus esa lgk;d  gSA
(A)  vf/kd  jkst xkj (B)  vkfFkZd  et cwrh
(C)  mijksDr nksuksa (D)  Hkz"Vkpkj

SECTION � B (BRILLIANCE SECTION) Hkkx-c ¼izfrHkk Hkkx½
PART - I (ACCOUNTS)  Hkkx- I ¼ys[kk'kkL=k½

Straight Objective Type
This section contains (61-65) multiple choice questions. Each question has choices (A),
(B), (C) and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izd kj
bl [k.M esa (61 � 65) cgq&fod Yih iz'u gSaA izR;sd  iz'u d s 4 fod Yi (A), (B), (C) rFkk (D) gSa] ft uesa ls flQ Z
,d  lgh gSA

61. Opening Stock (izkjfEHkd  jgfr;k) =     ` 50,000

Purchase  (Ø ;) =  ` 1,00,000

Purchase Return  (Ø ; okilh) =     ` 29,000

Sales  (foØ ;) =  ` 2,00,000

Find the Gross Profit :     ld y ykHk Kkr d jks %
(A)  ` 1,21,000 (B)  ` 79,000

(C)  ` 21,000 (D)  None of these (buesa ls d ksbZ ugha)
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62. Dinesh Ltd forfeited 200 Shares of  ` 10 each, ` 7 called up on which Ram had paid only application
money ̀   3 per Share. Of these 125 Shares were re-issued to Shyam for ̀   9 per Share fully paid. What
will be balance in the Share Forfeited A/c after re-issue of 125 Shares ?
fnus'k fyfeVsM us 200 va'k ̀   10 izfr gj.k fd ;s, ;kfpr jkf'k ̀   7 ,  ft l ij jke us d soy  ̀   3 izfr va'k vkosnu
jkf'k pqd kbZA buesa ls 125  va'k ';ke d ks ̀  9 izfr va'k iw.kZ iznÙk ij iqu% fuxZfer fd ;s x;sA 125 va'kksa d s iqu%
fuxZeu d s i'pkr~ va'k gj.k [kkrs esa 'ks"k gksxk \
(A)  `  225  (B)  `  600 (C)  `  525  (D)  `  450

63. A , B and C are partners sharing profits in the ratio of 2 : 2 : 1 . A�s capital is `  50,000, B�s is Capital
`  70,000 and C�s is capital  ` 35,000. B retires from the firm and balance in reserve on the date was
`  25,000 . If goodwill of the firm was `  30,000 and profit on revaluation was `  7,500 then amount
payable to B is :

A , B vkSj C, 2 : 2 : 1 d s vuqikr esa ykHk ck¡Vrs gq, lk>snkj gSA A d h iw¡t h ̀   50,000, B d h iw¡t h ̀   70,000

vkSj C d h iw¡t h ̀   35,000 gSA  B Q eZ ls vod k'k xzg.k d jrk gS rFkk ml frfFk d ks lap; esa ̀   25,000 d k 'ks"k
FkkA ;fn Q eZ d h [;kfr ̀   30,000 vkSj iquewZY;kad u ij ykHk ̀  7,500  Fkk rks B d ks ns; jkf'k gksxh :
(A)  `  70,820 (B)  `  76,000 (C)  `  75,000 (D)  `  95,000

64. Geeta Limited provides you the following information.
Equity share capital called up `   4,00,000
Calls in advance `      25,000
Calls in arrears `      40,000
The amount of paid up capital to be shown in the Balance Sheet of Geeta Limited will be :

xhrk fyfeVsM+ ls lEcfU/kr lwpuk,as fuEufyf[kr gS %
ek¡xh xbZ lerk va'k iw¡t h `   4,00,000

vfxze ;kpuk `      25,000

cd k;k ek¡x `      40,000

xhrk fyfeVsM+ d s fpV~Bs esa iznÙk iw¡t h d h jkf'k fn[kkbZ t k;sxh %
(A)  `  3,35,000  (B)  `  3,85,000 (C)  `  3,60,000  (D)  `  4,25,000

65. Cash Sales `    50,000
Cash collected from Debtors ` 1,30,000
Bad debts during year `      5,000
Debtors at beginning `    10,000
Total Sales will be :
ud n foØ ; `    50,000

nsunkj ls jksd M+ izkfIr ` 1,30,000

v'kks/; nsunkj o"kZ d s nkSjku `      5,000

nsunkj izkjEHk esa `    10,000

d qy foØ ; gksxk :
(A)  ` 1,75,000 (B) ` 1,70,000 (C) ̀  1,80,000 (D) ̀  1,78,000
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PART - II (ECONOMICS)   Hkkx- II ¼vFkZ'kkL=k½
Straight Objective Type

This section contains (66-70) multiple choice questions. Each question has choices (A),
(B), (C) and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izd kj
bl [k.M esa (66 � 70) cgq&fod Yih iz'u gSaA izR;sd  iz'u d s 4 fod Yi (A), (B), (C) rFkk (D) gSa] ft uesa ls flQ Z
,d  lgh gSA

66. Propensity to consume means :
(A) tendency of the consumer towards higher consumption
(B) ratio of consumption to income
(C) level of income at which consumption expenditure is equal to income
(D) additional income to be spent on consumption

miHkksx d h izof̀r d k rkRi;Z gS %
(A) xzkgd  d h vf/kd  miHkksx d jus d h izof̀r
(B) miHkksx d k vk; d s lkFk vuqikr
(C) vk; d k og Lrj ft lesa miHkksx ij [kpZ vk; d s cjkcj gksrk gS
(D) vfrfjDr vk; ft ls miHkksx ij [kpZ fd ;k t k,

67. In the context of Government Budget , which of the following statements is Correct ?
(A) Budget is a statement of Expected Annual Receipts and Expenditure of the Government
(B) It is a detail of Actual Receipts and Expenditure of the Government in a Financial Year
(C) It offers a detailed Description of achievements of the Government during the Five Year Plans
(D) It indicates Bills of Payment status of the Domestic Economy .

ljd kjh ct V d s lUnHkZ esa] fuEu esa ls d kSulk d Fku lR; gS &
(A) ct V ljd kjh laHkkfor okf"kZd  izkfIr;kas rFkk O;;kas d k ,d  izi=k gS
(B) ;g ,d  fofÙk; o"kZ esa ljd kj d h okLrfod  izkfIr;kas ,oa O;;kas d k izi=k gS
(C) ;g ljd kj d h iapof"kZ; ;kst uk d h miyfO/k;kas d k foLrr̀ o.kZu gS
(D) ;g ?kjsyw vFkZO;oLFkk d s Hkqxrku fcykas d s fooj.k d ks n'kkZrk gS

68. The marginal cost for a firm of producing the 9th unit of output is  ̀  20 . Average Cost at the same level
of output is  ` 15. Which of the following must be true ?
(A) marginal cost and average cost are both falling
(B) marginal cost and average cost are both rising
(C) marginal cost is rising and average cost is falling
(D) it is impossible to tell if either of the curves are rising or falling.

mRiknu d h uohas bd kbZ d s mRiknu d h ,d  Q eZ d h lhekUr ykxr ̀  20 gSA mRiknu d s mlh Lrj ij vkSlr ykxr
` 15  gSA fuEu esa ls d kSu lgh gksuk pkfg;s \
(A) lhekUr ykxr rFkk vkSlr ykxr nksukas fxj jgs gksrs gSA
(B) lhekUr ykxr rFkk vkSlr ykxr nksukas c<+ jgs gksrs gSA
(C) lhekUr ykxr c< jgh gksrh gS rFkk vkSlr ykxr fxj jgh gksrh gSA
(D) ;g crkuk vlEHko gksrk gS fd  d kSu&lk oØ  fxj jgk gksrk gS ;k c< jgk gksrk gSA
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69. GDP at factor cost = _______
(A) GDP at market price + subsidies
(B) GDP at market price + subsidies � Indirect taxes
(C) GDP at market price � subsidies + Indirect taxes
(D) GDP at market price + subsidies + indirect taxes

lk/ku ykxr ij ld y ?kjsyw mRiknu (GDP)  gS %
(A) ckt kj ewY;ks ij ld y ?kjsyw mRiknu + vuqnku
(B) ckt kj ewY;ks ij ld y ?kjsyw mRiknu + vuqnku � vçR;{k d j
(C) ckt kj ewY;ks ij ld y ?kjsyw mRiknu � vuqnku + vçR;{k d j
(D) ckt kj ewY;ks ij ld y ?kjsyw mRiknu + vuqnku + vçR;{k d j

70. Which of the following indicates Agreegate Demand in an open economy ?
(A) Private Household Consumption Expenditure
(B) Household Investment Expenditure
(C) Government Expenditure  +  Private Consumption Expenditure
(D) Household Consumption Expenditure + Investment Expenditure

   + Government Expenditure +  Net Exports

fuEu esa ls D;k ,d  [kqyh vFkZO;oLFkk esa d qy ek¡x d ks n'kkZrk gS
(A) fut h ?kjsyw miHkksx O;;
(B) ?kjsyw fuos'k O;;
(C) ljd kjh O;; $ fut h miHkksx O;;
(D) ?kjsyw miHkksx O;; $ fuos'k O;; $ ljd kjh O;; $ 'kq)  fu;kZr

PART - III (BUSINESS STUDIES)  Hkkx- III ¼O;kolkf;d  v/;;u½
Straight Objective Type

This section contains (71-80) multiple choice questions. Each question has choices (A),
(B), (C) and (D) out of which ONLY ONE is correct.

lh/ks oLrqfu"B izd kj
bl [k.M esa (71 � 80) cgq&fod Yih iz'u gSaA izR;sd  iz'u d s 4 fod Yi (A), (B), (C) rFkk (D) gSa] ft uesa ls flQ Z
,d  lgh gSA

71. Outsourcing :
(A) Restricts to contracting out of Information Technology enabled Services (ITES)
(B) Restricts only to the contracting out of non-core business process.
(C) Includes contracting out of manufacturing and R & D as well as service process both core and

non-core, but restricts only to domestic territory.
(D) Includes Off-Shoring.

ckg~;L=kksrhd j.k %
(A) lwpuk izkS|ksfxd h lefiZr lsokvksa d k vuqca/k izfrcaf/kr d jrk gSA
(B) d soy xSj&eq[; O;kolkf;d  izfØ ;kvksa d s vuqca/k d ks izfrcaf/kr d jrk gSA
(C) fuekZ.kh rFkk vuqla/kku o fod kl rFkk blh izd kj d h eq[; rFkk xSjeq[; lsok izfØ ;kvksa d ks lfEefyr

d jrk gS] fd Urq d soy ?kjsyw {ks=k d s fy, izfrcaf/krA
(D) vkWQ -'kksfjax ¼vius L=kksr ls nwj½ d ks lfEefyr d jrk gSA
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72. Big Bazaar opened its outlet and started by keeping convenience products. The sale increased rap-
idly. It then thought of keeping some shopping products also. Big Bazaar excelled in this area too and
is now the biggest retail chain. Name the element of marketing mix involved in the above case ?
(A) Product Mix. (B) Promotion Mix (C) Place mix (D)  Price mix

fcx ckt kj viuk ,d  vkmVysV [kksyrk gS rFkk lqyHk mRikn miyC/k d jokrk gSA foØ ; Rofjr xfr ls c<rk
gSA bld s i'pkr og d qN 'kkWfiax mRikn Hkh j[kus d h lksprk gSA fcx ckt kj bl {ks=k esa Hkh vPNk izn'kZu d jrk
gS rFkk orZeku le; esa ;g ,d  cgqr cMh fjVsy pSu gSA bl d sl esa iz;qDr ekd sZfVax feDl d s ?kVd  d k uke gS
(A)  mRikn feJ (B)  izksRlkgu feJ (C)  LFkku feJ (D)   ewY; feJ

73. �Entrepreneur is someone who actually searches for change responds to it and exploits those changes
as an opportunity�  this statements is given by ?

^̂m|eh og gS t ks O;olk; esa t ksf[ke d h d Yiuk d jd s mls laxfBr o izcfU/kr d jrk gS ;g d Fku fd ld k gS \
(A)   Peter Drucker (B) H.N. Hansen
(C)   Koontz o� Donnel (D) Joseph Schumpeter

74. Sell __________ and not _________ is the statement given by Steve Jobs.
(A)   Company, customers (B) Desire, wants
(C)   Product, dreams (D) Dreams, product

cspks _________uk d h _________;g d Fku LVho t ksCl d k gS %
(A)   d Eiuh, xzkgd (B)  bPNk] vko';d rk
(C)   mRiku] lius (D)  lius] mRikn

75. Which of the following document is prepared by the exporter and includes details of the cargo in terms
of the shippers name, the number of packages, the shipping bill, port of destination, name of the
Vehicle carrying the cargo ?

fuEufyf[kr esa ls d kSulk izi=k fu;kZrd rkZ d s }kjk rS;kj fd ;k t krk gS] ft lesa d kxksZ d s ckjs esa t kud kjh t Sls
fd  t gkt okgd  d k uke ] iSd st  d h la[;k ] f'kfixa fcy  ] xUrO; iksVZ rFkk okgu d k uke t ks d kxksZ d ks ys t k jgk
gS] vkfn gksrh gS \
(A) Shipping Bill (B) Packaging List (C) Mate�s Receipt (D) Bill of Exchange

76. A Doctor can operate only on the condition that the patient is ready to take his services . It is the
example of ________ nature of Business Services .
(A)   Non-Stocking (B)   Non-Transferability
(C)   Simultaneity (D)   Consumer Participation
",d  MkWDVj vkWijs'ku rHkh d jrk gS ] t c ejht  mld h lsok ysus d s fy;s rS;kj gks"A ;g O;kolkf;d  lsokvksa d h
izd f̀r d s ________ fcUnq d ks n'kkZrk gSA
(A)   LVkWd  lEHko ugha (B)   vgLrkarj.kh;rk
(C)   led kyhurk (D)   xzkgd  Hkkxhnkjh

77. What type of responsibility a Company accepts with regard to the other Company under  Contract
Manufacturing ?
(A)   Production of Goods (B)   Production of Services
(C)   Collecting Capital (D)   Marketing Goods and Services
d kWUVªsDV eSU;qQ SDpfjax (Contract Manufacturing) d s varxZr ,d  d Eiuh ] nwljh d Eiuh d k fd l rjg d k
mÙkjnkf;Ro Lohd kj d jrh gS \
(A)   oLrqvksa d s mRiknu d k (B)   lsokvksa d s mRiknu d k
(C)   iw¡t h ,d f=kr d jus d k (D)   oLrqvksa o lsokvksa d s foi.ku d k
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78. Factoring Facility is ________ type of Outsourcing Services .
(A)   Advertising Services (B)   Financial Services
(C)   Courier Services (D)   Customer Support Services
Q SDVjhax lqfo/kk ________ rjg d h cká  lsok gSA
(A)   foKkiu lEcU/kh lsok,a (B)   foÙkh; lsok,a
(C)   d wfj;j lsok,a (D)   xzkgd  lgk;rk lsok

79. How many Industries are reserved for Public Sector ?
lkoZt fud  {ks=k d s fy, fd rus m|ksx vkjf{kr gS \
(A)  3 (B)  4 (C)  8 (D)  17

80. Disadvantages of E-Commerce in India are :
(i) Internet access is not universally available
(ii) credit card payment security is not yet guaranteed
(iii) transactions are de-personalized and human contact is missing
(iv) cyber laws are not in place
(A)  (ii) and (iv) (B)  (i) and (ii) (C)  (ii) and (iii) (D)  (i), (ii) and (iii), (iv)
Hkkjr esa bZ&d kWelZ d k nks"k gS :
(i) bUVjusV lkoZHkkSfed  : i ls miYkC/k ugha gSA
(ii) Ø sfMV d kMZ ,oa Hkqxrku lqj{kk d h xkjUVh ugha gSA
(iii) vO;fDrxr ysu&nsu rFkk ekuo lEid Z d k vHkko
(iv) lkecj d kuwu d k d ksbZ LFkku ugha gSA
(A)  (ii) ,oa (iv) (B)  (i) ,oa (ii) (C)  (ii) ,oa (iii) (D)  (i), (ii) ,oa (iii), (iv)

ANSWER  KEY
SAMPLE  PAPER  �  XII  C

1. D 2. B 3. A 4. D 5. B

6. B 7. D 8. B 9. C 10. D

11. C 12. C 13. D 14. A 15. A

16. D 17. B 18. B 19. D 20. A

21. D 22. A 23. B 24. B 25. A

26. A 27. A 28. B 29. C 30. D

31. B 32. D 33. A 34. C 35. B

36. D 37. A 38. C 39. A 40. B

41. D 42. D 43. A 44. A 45. B

46. B 47. A 48. C 49. D 50. A

51. D 52. D 53. C 54. B 55. D

56. D 57. D 58. C 59. A 60. C

61. B 62. A 63. D 64. C 65. A

66. B 67. A 68. B 69. B 70. D

71. D 72. A 73. B 74. D 75. A

76. C 77. D 78. B 79. A 80. C
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